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Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any candidate found using unfair means in the examination halls/rooms shall be
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Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.
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each question.
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Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘A’, then he/she should fill up ‘A’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘A’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
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formtiz@nt
AT 01:55 I SAITS epIFe T4+ |
OMR T&9 “[qq I JGUHS W TGIh! Bfes 3919 SIS TGt AR A6 e |

o [T BieT 47| TES (@I AT 9 T [Toqo @ S| 9 T 4 IR
oS 7R |

® I (I 4RI SPIR TAR S[oT B AN SO Tlgydl T A PR Tevewi 3,
(S0B (&P S} [l D 1 27 |

® Non-Standard OMR JRZS 0 AAE o @5 799 Fired e 53w ~Es
[GIREGITSE

o PTG IR0 Tl TolfEs /(@IeT #[qe YAIK FAFR IR M7, QI (O STENCS A0l
FHS TP A2 TG TS AF GOl OMR TGI9g IF IO F5es ol
R TS | (RICT IR $oifERs /@1 siqe eiaE I Fe 91, (OS2 (& (ST
eiFES e 4f T 2T |

o AIFINE FFEN 99 ARG U5l (rough) FIN eEpIFeS 7l 5oz Q@ AR |
AFNE 461 (rough) TN TG A1 A1 S (FIC 476 Flarers I G | Teq o[q T
@2 {541 (rough) TN *F=FIRNE (9, (SFOAZ T (S TG “[@q FeHR 1 727 |

o ST T AW AHF 939 Vg OMR T& a2 7Rl 27 | T 20 I Wam FRQE
Sfoe @It Teq 79 i 72’7 |

® ENIFOT TS ¥ OMR Teq ~g il 27 | *[=Ifw@ ¢z g OMR Ted 7o
ERPITSY TH9, RFTS F'T, TGV AR (FIe o1l /F 2N Je-23F I 7 Fl
Al |

® “ISIHIF TN 2 T TF euFFoe 100 b 2 AfFT WA 2TSF0h! A W@ 1.75 TSP
2 |

® E Teq NI (PIG! AN 77 e |

® JIEER 9 f1f7d A AHINET OMR T 2I[qS el /F &l I97-2135 (02 TFR2
QAN |

o I HAE (TSR ARud TTo AR @ eFFeT PR AEIRT 24, @ PN,
e, 0T, T TE B[AE | 92 (FES NN A RFITS @I 4]0 pets qizar e
(oIS PRI 27 To BRAMG TRFREBIP2. 2T Wi e 9o A |

Important Instruction :

o Q% Moo @1l Siv® ATe LAFITET T'T 776! OMR Teq #iqg 3 siz® fori =7 |
TAIRITRCA, AFINE A2 T RFITOT T ‘A’ QP OMR Te A WS 5IZS ‘A
1R AR = WS 3@ ‘A’ 61 331 R AR | eerres [t fRemite @RE Arefie
TEHNR T TR ST ARNPIFOI FHeis it 77 |

o 2 I Gl FAT TS AT FITTI 2SS OMR TGF “[TF ANTS LWFIFSIT
ol v = 1ifeR | SRt stfepidiem Srie e Rabo 27 |
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IGERISE]
79 01:55 TR #I0d @Pofaib Y@= =1 |

OMR Tes g AL JSLC® W Tex(i b I 7Jtd &ifl AU TS 16 |

o 5! TS AP ST @ N 9w TP oo @ S2@l S8 FF QA IR
ST SRS (ST = A |

o i (FI I SPIR TAR SqETT I A TAE SEmd T AW FRPTR oo I,
W S 190 A0 Reas= F91 23 |

® T YJITIT OMR T@d “Itad &) RIS e @ 799 eRo[tad WS 2 ™8
foT(® 27 |

o “RrFIFaIE AR (el THFERS /1T It I FITE TR0 R(A, AR S A
FCF TP AT FAK R @R TSR OMR T€d1 @R o[t s o edid
R | @ A oS /@ itg T ORI TR A1 IR, SRE SiF SHiEe I
a1°ly T 204 |

o [SrHIT AT HE ARG T (rough) IS 2908 (ST BT FACS ARE | 2wl
2T (rough) IS TEI2G 1 T (FIF LR FI9E FICS AR 1 | AW 27wt @3 27!
(rough) T TEIITq I, OF €2 @RI TR a1 2 1 |

® T T & AT 4FH NG OMR TG e W@ | G (A A 8o IR &
SR (e Teaig (e I A |

® &vItad M b OMR Tea7iq (eA B | *RIIFE (12 (U8 OMR TeReita ei%taq
T, 2GR (PTG By ARG WG <ieT /0T I -G oI =ll 1o 00 27 |

o SR AN 2 TG @R 29tg 100 T e AFE @R TS AT &= 1.75 T99 I 4
IR |

® & TG & (I AT 77 AP !l |

® 5% O (FTF & A OMR TGII0F <1161 /FICE I - @B 7] 2T PACS 2(A |

o AN ST R T TS 2@ @ AR 2SN ITSIRE 2[ | @=- SPIarl,
e, 0T, T @R F[AG | @3 GG TN A ORFAC @I @R SO L @RI
P 201 BRG] ALRANTR &S an 03 9[°l) FAEH |

Important Instruction :

o RN Moo 2eq Tt ATT etal FIC T OMR $eI7tad WS B @14l =F |
TrizgerEw, AR e 2poitEd (IS ‘A’ AFE OMR Teg20a7 iR 2w ‘A’ forre 2@
3R FME 3@ ‘A’ T 10T 00 TR | 2R9IGT I SPTBRS (TGET AR id ol Raaf e
R 3R 2Pafh 379 TS 910 |

o ! T Is TR e AR (NAFCPT TS OMR T@geitas A0zt eryeiafG e fires
2@ | &t A free 711t weifes I Rfbe =@ |
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I 01:55 fomf fernt stAsef v feemswt SeATeT |

TR AMYATE TS Tt gt fem Tre St @ T A |

® 3ITSE QT AR THTE Taa] [SRERE G AR TR 8] TST STHSIE @ ANRAT
BT ST 7T |

o Ifc Aian fommemmn mia war @ wen MSiEE T A Auerat fawrn, feume SRR e
T ST |

® Jf¢ Non-Standard OMR Sheet STERA™ ST, fSA=@EET MaaT-Maf I T8=1 (Roll
No.) & feremmsf &1 Srrmme Tam fort 9 |

o formEETERT ARfCHTET BH™ TATA™ /IR faarsame e gars e 9, fifaame Seer
T 3TSITe @UTETE HTfY S w0 A W g feerg 3T OMR R faergat
TR ST S TuTa | SRaT AR JenferT /B feersare A wsh amaw 3 gars
WA 3T6AT TSATHHT STASITE €1 HATd BT @A =13 TN |

o fsarrEmn Maf MaE Y@M MHT ST rough FERET GiFM™ faaTgamaE @l gRTH |
feMRERT rough EETE! TR foesaTd el g4 TEWH WFTS STERAl [ 8T | fhHw
foemgama IfE & rough FTETE! WIH! 376eT T foaTsE! Y™ Q™ STHE 7T |

o TTHE FHRMA U™ feArEEE THe” OMR A= faems e wrme | maf Steen 19
o St st foem ferette @ s = |

® T faags @rmE TH OMR /™ faars gm@ sme | femeamn & &1 OMR e
ATRATE AT - : T foers Tr o d@m foemst &', vaft +'s smfe safeet
YT =T TaT TMEH Seu=sit @l T |

® HIEH THT 2 U= IR THM fSelsard W9 100 HifY YA 3T WFhHE! FiAEE-l e
e yr@m™ 1.75 TR 9TIA |

o TR fFrafy ara™ Set g’ %R 19 |

o frERT OMR AT feresgama @fer et ST T SerusTia TEs QT 31Tq WTem-r
AT |

o 3TaTe & fift glaerty amam M aieamn wisife @ foems sTermi SiFmReR e
Taie SIrTH, SR 3TEHE, s7ar, U, &< A 3UiS | o ST Jres sl T BiEeEE s -
I TS TS TSI ST SUSETe BITETRENT HTs BT §HHT AT A |
Important Instruction :

o foAmrrarn e wHrEn wiwife g e % 'sEt OMR e faemsf for sermeme o
a2t A | el afed femrmmn aam wmm faemef %' <A @t e et o
SR G et e ‘A o anme o for sieeE e At e |

® 3THNT WG ARTAE fam femreamen Amfemfs smamma OMR fmam gt evna
i feetgEian ST gl ARTH | TSTee1 STHWIE FREt Taned fEems THemmE S |
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U 01:55 T | Y& Y9 Yierent 7 @ |

OMR STR-U= & 3IUFe I | Jg I fga o € gg a4t T3 AaHiges U |

o vilieT Tord T foeft wiemeff i wdian wam o wiat yET 1o wier e Bidt S i 1A
Tl < St |

o fe I ghiemeff Torq qlent 3TUTT B A1 W IfectRad FEHt 1 oot T 7, 91 39 3™
U T SR |

® Non-Standard OMR 3W-93 % 391 7q eqefl 379a1 Tet =, I gfedent # fou M0 v w
wog 9 4 ford |

o uhianefi @i frfteres g feu o 3ufefa /Ae 3fic W & IR SR T TR, TEeh 9 e o &
¢ 3R g IR WA gf&qeht 3T OMR IT-94 f{iee i Hiad o &G | 3R foreft aliemelf 4
Iufefa /Ue sffe W e gedter T foharm, @t 3| wdienefi s srufeer awen s |

o wiiemeff Tt TE *1 FTEH W (rough) HH T fEaehT § feU MU T 9T weh | wdieeff W
(rough) T IT-9 A7 31 Forell T8 & HITe W & HLFh | I qhienel ST-u9 WHE W
(rough) T AT 2, A T IT-T T JoATeh a1 a1 T |

o Tt Uyt o foru udiemedi ot shae Uk OMR STR-UH €t oo S | Tetdt §H R 91 Ig & &
for whtg riiter ser—v=t & fean wmem |

® ¥ If&ieht < T1Y T OMR IW-v3 fean smom | wieneff 39 fifdse OMR IW-93 # ¥
GfEent ., T GFETehT T I 3T HTHT 1 IS ST Torewor FraeTi & shadt el 31 el sicl-
Ui5e U | W |

® Ui ST FHA 2 FU BTN 3 ¥ YT § 100 T & 3TR Jedieh I o fIw 1,75 376 20 |

® TTeTd 3R o foT0 g TohRTeHR 37eha &1 2 |

o TR 1 38 T8 T 3R OMR IT-T9 W hael el AT HIAT Sid-Tige 94 § |t FIAC
AT B

o wiieneff 79t glaen o foe e T T T gfcaent w1 Tl Sve Sg-wTfves 8T, S — ST,
e, srel, fawdt 37t 3Tt | 30 ey o wren o weehtor 8 foneft wehr 61 7fe o wmem § srgfaen
B W 37ST IS i & HE W S |

Important Instruction :

o uiignedi 7z gHivaa o & foh 39k g1 W9 YRert &1 g OMR SW-UF § && &1 ¥
T /ST R e @ | SeTEwREEy, afe ulenelf fit uv gieaet @ @i ‘A’ @, @ OMR
IT-US | e ‘A’ foremn grm 3R o=t A’ Rt el h1 g | afe W gftaent | g e o
30 e 9 HE femfa fore, A gema wdten Trfierss @ o wva gt agem % |

o Tlten WA BieH ¥ Uget udiendt i Fiersh o 4 OMR STR-US & WY U9 Yieaent ot s
ST BN | ST 3¢ STJUREd o w9 | THel S |
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1. “Swa =<l e @INUE e TifFe ?

(&) T B) e
(C) et (D) Tt
1. “Sigs *=is (i 40l 370t STelfFe ?
A Tem B) e
(C) et (D) fomerf
1. it BRET MERTE §HE S« SRES JEel § 7
(A) T gRm (B) sig ¥
(C) Torg g (D) fog urm
1. “efe oen Fafoafaa fra T e g aag 8 7
(&) S e (B) dig e
(C) Tom o (D) fég o
1. The term “Tirthankaras” is associated with
(A) Jainism (B) Buddhism
(C) Sikhism (D) Hinduism

2. Q957 SO (I e AN AT TN CIeS H<erel 72 2

(&) o (B) f@fl
(C) TR (D) FEEw
2. Teg-7[4 ORCSR (PN Aren(h RN S0 SR AL 77 2
(&) o (B) @
(C) TR (D) FcsEN
2. GI-HFST YRAM ¢ TS R Sreestsi AeeeTr ?
(A) =T B Fgu
(C) waTe™ (D) forem
2. AR AR 1 98 T 511 STATCT b G1 ST HT31 78] Ll & -
(A) =T B) Fgu
(C) e D) fsm
2. The State of Northeast India that does not share borders with Bangladesh, is
(A) Manipur (B) Tripura
(C) Meghalaya (D) Mizoram
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3. ffeTie Reps T2 fowae wifiet *1eh! (a0 :

Q) TG (B) =%

(C) SIaTestl (D) fowefE
3. el AP >0 YIS ({9 A |

(A) TGS B) TH

(C) sl (D) feasm
3. TERTE BN TR TSt FIhK |

(A) T (B) 31

(C) 3R (D) €T
3. Towgsigd|

(A) T (B) ¥

(C) 3R (D) €T
3. Find the odd one out.

(A) Gangtok (B) Imphal

(C) Agartala (D) Dimapur

4. “FE AN TORD AR @@ SifeeR s T ?

A e B) I
(C€) ot (D) e
4.  “SN2 2AISA TR VA (@I SiIio A0 T ?
A g B) I
(C) et (D) w2
4. T3 BRSNS BREIST § S g olea g ?
(A) fufem (B) st
(C) T (D) Hscs
4. frefeafed 9 &6 o g g R ST Y TG © 7
(A) fufem (B) st
(©) (D) #
4. Which one of the following groups, is the festival “Lai Haraoba” associated
with ?
(A) Mishings (B) Karbis
(C) Garos (D) Meiteis
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FIe1l 7oA CB1 TeT- 57 TIqeq (T ST SFES ?

(A) e (B) IGF
(C) 2B (D) THe
Flee vsf Teq 74 ©IRred (IR R[S ?

CVERRIREICH B) ATIGF
(C) 2B D) THe
HITAT TheATaT AT-HHST YRASATE §&T1 € ?

(A)  FARIT (B) T
(C) R (D) TFHE
(A) ITRAen (B) T H
(C) SemH (D) Frel i
Where in Northeast India i1s Kangla fort located ?
(A) Agartala (B) Gangtok
(C) Itanagar (D) Imphal
i Tes @R @3 wa [KIfs 727 2

(A) I I-31S R 32 TS IIEAD! TS |

(B) Bl o7 Tarm fea wi492s O (NEF!) SAWEIFIST o |

(C) 2BIF AT =R Bl I Si%es] RICh! ©oq Seolferhr f[9he e w@ie |
(D) SIFeq 7R FARN TG BTG SAFES |

T3 e [ W =17 2

(A) IWEI -3 (delta) FAKT IZET S NT=F (mangrove) I |
(B) B 4<% 32@T I (mica) SLAMT |

(C) [ BI° @b ZeTo N Al SRTSR G [ARICS |

D) SRR SBE SRES J2G NS BN BSAID SIES |
MR Se37 21 787 ?

(A) GetaA s-gia 31 g a3fgs wfim duy gm0 |

(B) YRGS A S31-g3 ST ATShI fegam greq |

(C) WA TTS 3ATe UM Se8el 81 ST SITed 62 69 |

(D) RaAfd SgHgs AR TeTe ¢ foeisn [easmE g |
fffga s AT A T TEi & 7

(A) HeTaH S g o Had ¢ HUE a HI AR |

(B) = farvar 1 e 91ST Y IATGH S 2 |

(C) X1 Toh Y -TT &7 B S WA % e véidiea # |

(D) WA 6 T8 T i TR I 6 3t Tord § fRm R |
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Which of the following is NOT a correct statement ?

(A) Sundarbans delta is home to the largest mangrove forest in the world.
(B) China is world’s largest mica producer.

(C) Easter Island is a land area that is antipodal to India.

(D) India’s largest inland salt water lake is located in Gujarat.

TITeq B S5 T, B et Aol RFHs “I7F A P GF ST Wl IS
I TS RF© AT el fZBICT 9ol 23 wiifar 2

Q) (B) i€

(©) i (D) T

SRCSH -6 SRR T RA S (I ASres 7 ER 7ol BT biee 2o
T AMCEH FF© AGANSS 7o fZPIC 9140 20O 23 2

A 9« (B) 4

(C) s+ (D) fom

TRATR foamrg’ 31 s1fed, BTeUi B TR AT BN TSTET=IAT ST
T TSI TG FFSATH TR G 2

A) T@ (B) &l

(C) = D) U™

T h TG TN o ITTHR, Toh TP & o &9 H HRIAT I A & [T, Th TsTideh
Tl %l S & A foha TSI H Teh TT=IAT U1 TSI Tieh el HTHT ST A1 2

@A) B) ="

(C) = (D) =

According to the Election Commission of India, in order to be recognized as a
National Party, a political party must be treated a recognized political party
in at least how many states ?

(A) One (B) Four

(C) Five (D) Three

e Afe Mg @F [PE @Rel — “F[e @[ TS G HE 12T

w ’7?

(A) I &M (B) 3 SR4M¥a foeTp

(C) Tole{leT 6 Cal<Ice] (D) =i 1R

T SR Joy @it 39 S, “Faie SINiE T SEiE 93 SN ©f wrete 393 7 ?
(A) IS &M (B) I i foere

(C) TallTeTpae Cal<Icet (D) o518 B
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8. BRI TR ATES SEHM, “ISIEET 30 JHM HiIm TR 317 9@ AT 2
(A)  TFERIE TG (B) et Timer fererep
(C) TIHTETSHSI TEet (D) wa &g
8. Trfeiftaa o @ forem what o “wraaan 30 Ffeg TR B iR 38 & S g ?
(A)  TERIER TG (B) & TR oo
(C) TITe ST MGt (D) wid fig
8. Who amongst the following said, “Freedom is my birth right and I shall have
it” ?
(A) Chandra Sekhar Azad (B) Bal Gangadhar Tilak
(C) Gopal Krishna Gokhale (D) Bhagat Singh
9. (I IS W AT BT Aere A9 7S T 7c9fbe tafeet 2
(A) 1526 (B) 1536
(C) 1556 (D) 1576
9. ST IR @I A S “AIferei0d I T 4RI @ 2
(A) 1526 (B) 1536
(C) 1556 (D) 1576
9. T HISYTISE 3TheR TR Y ToRTa qHigar 2 o1 grergmn S 2
(A) 1526 (B) 1536
(C) 1556 (D) 1576
9.  UTId i GEL SIS SRS 3R g o o< Iy Hggeft|
(A) 1526 (B) 1536
(C) 1556 (D) 1576
9. The second battle of Panipat fought between Akbar and Hemu was in the
year
(A) 1526 (B) 1536
(C) 1556 (D) 1576
10. SIS &b SR ©iwey [eiepre! FHibTs @ hel Tiimes[RT A toione ke
MITS “ @99 518 72T (NOTA)” RFeh! Io/e ST 2
(A) 918, 2012 (B) «=%4, 2013
(C) SIS, 2015 (D) =3RS, 2014
10. SIFOR BT Sl SRS [uepTel FRIGE 49 25[IEE To (oid [ e

“TRA T2 1 (NOTA)” &lol FCae ?
(A) 9T, 2012 (B) +te%d, 2013
(C) @I, 2015 (D) w3RE, 2014
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10. YRa waafed fommeE 3me A YRa foueE st Mifé aREa™ e TS
e 987° (NOTA) @t fifaesf aram segemH ?

(A) 3T, 2012 (B) a¥x, 2013
(C) SHeE, 2015 (D) 3HHS, 2014
10. 9T o TS RN 3 WRa 3 faermaen At § qaeH faemen § “Suiied § @ 18 721 (Fier)”
UgA! IR e AR fehaT 2
(A) 3T, 2012 (B) %R, 2013
(C) <Had, 2015 (D) 3RS, 2014

10. When did the Election Commission of India first enforce the “None Of The
Above (NOTA)” in the voting option in the assembly election in India ?
(A) August, 2012 (B) November, 2013
(C) dJanuary, 2015 (D) October, 2014

11. BTG TR I3 IR (I 912 aEs ?

&) iR B) 7l
(C) M5 8.1 D) e Ts
11. esifes R KR SAMETS’ @7 T @FIUE S[FEs ?
A) =nife (B) T2 (The Hague)
(C) ST T (D) FezTH
11. grgierii fafsmanfat mems e’ sn swr e ?
(A) uRE (B) @z
(C) =fres (D) =i
11. ITARERE AT 1 T el (a2
(A) uRE (B) =
(C) aifymTes (D) =ih
11. Where is the Headquarters of the International Court of Justice located ?
(A) Paris (B) The Hague
(C) Washington D.C. (D) New York
12. GG 2T MRS 2T 0! T TS ifee ?
Q) ReMl THAR TR %1 (B) < 97 TS e
(C) RoR SRR TR (D) o gwers Auze!
12. T S @ smeEEl A6t iz See S ?
(&) R oo Reacs i 41 (B) =i o= Som fcaresl
(C) =1 oI iR (D) T = fercarest
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12.

U T3S MR 96 WG SHHE™ e ?2
(A) T TR 99T TRATRE SAEEAE (B) @i SRRt gee
(C) ToamEEET I g (D) T Se3TTd SEaRATE! BRI

12. ol wHe ® f=Afarliga § & o1 o1 shen smfiret feram mm o 2
(A) st amm wlier i aeed (B) W&l 98+ W Jfded
(C) oheH o fo1 HrraTE (D) ferger amn w faee
12. Which one of the following steps did the Rowlatt Act incorporate ?
(A) Forced to buy foreign goods (B) Restriction on wearing Khadi
(C) Imprisonment without trial (D) Restriction on travelling abroad
13. ©RST THoN WRFE (@ IS ¥ 115! 2 TRIE e e s w15 Fyfe
e iR ?
(A) 1985, X, SRSl (B) 1987, 2% WEC2@l
(C) 1989, wifext [fq (D) 1992, 3Vt @IS
13. SRICSH Tohod FRIET (i I G FICE 22N Ff2el R R Feafee 2
(A) 1985, IF. SRSl (B) 1987, 2% WleTc2i@l
(C) 1989, Fifew [ (D) 1992, 3Vl =St
13. YRa meited fafset fife sesh fearfift aeer femsn om m feenf genaram 2
(A) 1985, 3R, AARY (B) 1987, 3g weam
(C) 1989, wrfcHT sfisft (D) 1992, 3fcq s
13. T 3 el e 3 o o B 1o e whern e <6 R <6 S el R

13.

fopar 2

(A) 1985, IR, VT (B) 1987, 3g e

(C) 1989, Wrfem sfieht (D) 1992, 3few =it

In which year did the Supreme Court of India appoint its first woman judge
and whom did it appoint ?

(A) 1985, R. Bhanumathi (B) 1987, Indu Malhotra
(C) 1989, Fatima Beevi (D) 1992, Indira Banerjee

14.

14.

(I BTS SR (SIBIRFIR 31 I FTos 7 21 I2I< #9118 I-ICE BT 41 27 2

(A) 1986 (B) 1988
(C) 1990 (D) 1992
SIS CSHIfAI @EITe STy T 21 99979 (AT 18 I ! ZARST F© AN 2
(A) 1986 (B) 1988
(C) 1990 (D) 1992
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14. YRGS WIfE AHYEE A9 ATE™ 1 STSTedT S9@! 21 SERHKE 18 SRy o«
HTSATATS GHTSE SN ?
(A) 1986 (B) 1988
(C) 1990 D) 1992
14. WRA ¥ HAgH 1 HATIHR I S i = Y I Fh8 a8 # 21 99 § T 18 9
femmam e ¢
(A) 1986 (B) 1988
(C) 1990 D) 1992
14. The minimum age for acquiring voting right in India was reduced from
21 years to 18 years, in the year
(A) 1986 (B) 1988
(C) 1990 D) 1992
15. THI0O! 3 0z ©iea qreaie Ffermelq #[l faics Bmed Faee ?
(A) 1911 (B) 1913
(C) 1907 D) 1910
15. 0¥ TR (@I IO SRS S PRI (AT MRt SRS FCMe?
A) 1911 (B) 1913
(C) 1907 M) 1910
15. & TSI ffewratn araf Taemeafa! sashar-wh feeeiard A 2
A) 1911 (B) 1913
(C) 1907 (D) 1910
15. 37 A Top8 oY WRA 61 TS bl hicTehrarl 8 feoet T foram a2
A) 1911 (B) 1913
(C) 1907 (D) 1910
15. In which year did the British transfer the capital of India from Calcutta to
Delhi ?
(A) 1911 (B) 1913
(C) 1907 D) 1910
16. TRYET AGTEIRTS RN FIF FTIFNS Ol &N 9IS FS I :
CNIRRIEEE QIEET (B) TIHIYS I_ENZZ
(C) T IRCNZZ (D) PR TN (9N
16. TR 7 TS0 SN AR i G2 11 oS FI o
INBRICE QIS (B) THCER [IR
(C) ANTH IR (D) FACR IRNG (122
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16. TEHM TSI GUTS THTE 37T T A= ST TTaT3 TR ol Me fhamstH gan aae ?
(A) U YBTIIETS (B) Y SUIETS
(C) WA STIETS (D) 8 ST TETS
16. FETH T hIct o S TR T T 3T AT TMHE o Ul of -
(A) qUTHE YIRS (B) ShTHHT SRS
(C) WWEA SUNER (D) e S METS
16. The Chief of the Ahom Military during the reign of Chuhungmung and the
husband of Mula Gabhoru was
(A) Purnananda Buragohain (B) Frashenmung Bor Gohain
(C) Khamsen Borgohain (D) Konseng Borpatra Gohain
17. T 5T “aTeefq (Seeae o 2feal”s “Sizpan” ey firal t2feet 2
(A) 1867 (B) 1858
(C) 1876 (D) 1905
17. SIF0ST T (SR SR RICIIN (e I70 (1831 2@ e 2
(A) 1867 (B) 1858
(C) 1876 (D) 1905
17. < 9IRS ‘argas’ @t “Irdf Tee St 9 gHT SeH ?
(A) 1867 (B) 1858
(C) 1876 (D) 1905
17. g ad o ara & TR SRe i araeRr i 3urfer € 78 off ?
(A) 1867 (B) 1858
(C) 1876 (D) 1905
17. In which year the title ‘Viceroy’ was given to ‘Governor General of India’ ?
(A) 1867 (B) 1858
(C) 1876 (D) 1905
18. fyafri¥® (I AR Iz S AcTitere GRE R Frefest '3 718 @ ?
(A) ST g (B) 1 FPIH!
(©) TPl (D) =16 STt
18. e Srafirs e ifdifess fi @3 e acoiemte Sl wifiam aifvs zwfee 2
(A) TSR sHhmE (B) A STPTA
(C) T o0 (D) % TP
18. 9EcIvE BTN MieHaT 9 Giafasni werf @ fhers 2
(A) eIt (B) f&far i
(C) Tfawi (D) =iy wIf
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18. dIEivie Tl uftye frefaftad fera gaenfaes wrerum s aftomm 2 2

CVICSUEE Sl (B) wmaet srgesh
(C) e g (D) drereff 3rgeeh

18. Bodoland Territorial Council is a result of which of the following
Constitutional provisions ?

(A) Second Schedule (B) Seventh Schedule
(C) Sixth Schedule (D) Fifth Schedule
19. AR REw-Twa0h! TS SEs ?
(A) S 2o (B) fofew
(C) wIs" (D) FcsEN
19. “IFeR (Pakyong) RN SRS :
(A) SRS ST (B) Bifew
(C) = (D) FcsEN
19. T SUSCLSAT TET S ?
(A) ITRUTEA T (B) Tufesm
(C) =M (D) T
19. TSN FATE LT Fal [RAq B ?
(A) 3O T (B) fufen
(C) =g D) fsm
19. Pakyong airport is located in
(A) Arunachal Pradesh (B) Sikkim
(C) Manipur (D) Mizoram
20. 2I3 LT IR FECS SNSRI I &l AT ol 2 :
(A) @RER AT (B) 42
€) =S (D) IN
20. ZRAN e A1 BRSBTS 71 (AP @1 @ 2l o+t T
(A) IS AT (B) oISt
(C) 2f® (D) ™
20. TSI TG FHRgS T TEETS T HAET AR SIeT33T 07 ?
(A) & T e (B) et
(C) A (D)
20. ¥ TS T T UTC A ST HaH 3T U] I & -
(A) THH A (B) T
(C) =reft (D) ==
20. The most common animal figure found at all the Harappan sites is the
(A) Unihorn bull (B) Cow
(C) Elephant (D) Tiger
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21. ST OIS (T2 Wefa o =i ?
A 4 B) 5
C) 6 D) 7
21. AP AORFICS GG TG IS (rings) SR ?
A 4 B) 5
C) 6 D) 7
21. Afafties fRtfthetiaTa qHe™ SEA ¢ 2
A 4 B) 5
€) 6 D) 7
21, ATATHI el § fohaH ool aid & ?
A 4 B) 5
C) 6 D) 7
21. How many rings are there on the Olympics flag ?
A4 4 B) 5
C) 6 D) 7
22, STSHR ISl 537 (R :
(A) FET= @R (B) THFHAMAN
(C) Tt (D) fomr
22. SICSFHAIR A =12g 29 :
(A) IJFPT QT (Buenos Aires) (B) GIFGEIeN (Santiago)
(C) <91l (Bogota) (D) ™I (Lima)
22, ITIUEHTH TSeTaf FRTRAR 77 7
() = s (B) dfeam
(C) <wTe (D) femm
22.  ITSIEMT T TSI TR -
() = s (B) dfeam
(C) <wmer (D) <fm
22. The capital city of Argentina is
(A) Buenos Aires (B) Santiago
(C) Bogota (D) Lima
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23. AT GOAIE 12 TR F'© S[ES :
A TR (B) eI
(C) wIibl (D) @&
23. [ QR SV TR 2E
A) TR (B) =TI
(C) wIrst (D) IFT
23. TI URETH R HeE RIS ?
(A) TR (B) PATCATT
(C) Srehrt (D) ik
23, TRURAIHIgEE TR |
(A) g% (B) TR
(C) STt (D) Sl
23. Air Asia has its headquarters in
(A) Mumbai (B) Kuala Lumpur
(C) dJakarta (D) Bangkok
24. TS (PICHT, ST @ o TG f2iBs =27 2
A) Tw'w-11 (B) forers
(C) WEw'=E D (D) TI%
24. oA (IS ST FATAR *ranfs 77 2
A) TIEw 11 (B) fms
(C) WBCFPTE SR D) %
24, TTERIH S AIFEI HEREH AR e 7T ?
A) e 11 (B) fermmem
(C) HTSshIETH AT D) S92
24. T 1 8 1 &1 o o forw AT foreen 7 2 2
A) fEw 11 (B) fore
(C) wTSshIaTR HAIEH (D) &g
24. Which of the following is not an operating system for Computers ?
(A) Windows 11 (B) Linux
(C) Microsoft Office (D) Ubuntu
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25. RS 723 @GR I6 TS SRS T fExiem x5 2ot fRena 541 23 2
(A)  JlgeTeRl (B) i Wl
(C) IO D) =
25. 10 SERS @IRIGIE TEA SIRTS SFES [RIEIEE ML s e 5o w1 27 ?
(A) FlwTere| (B) =l (<
(C) IO D) =
25. TR 9931 TiEere wraf sifee fearert fufgfy s 2
(&) e (B) =1 &t
(C) Hmd (D) 5
25. Trafafga @ @ f8 adum o YRa &1 g8 S feaer fRres 7 simar g 2
(A) ST B) e
(C) HMe (D) |
25. Which of the following is presently considered as the highest Himalayan
peak of India ?
(A) Kanchenjunga (B) Nanda Devi
(C) Kamet (D) Mana
26. TIEL TR Gorsz 1 efsres faradl sTerre sizoll o< T T PIee fer @il
fet ool 1 27 ?
A) SRR (B) eI
(C) =l (D) *row
26. ERISRICSH (29, GeRRM) GE@a T @ CTRifas garsz w3 @R T 70F
fifers 2@z ?
A) SRR (B) ST
(C) Fe! (D) *o%
26. AT (MM stergaret yam) 7 Bafr smsma w3t S <ol | e
g o (ar @) e 2
(A)  yrfRed (B) 3TetehH=gT
(C) Tl (D) g
26. TATHS o a0l €0 (99 § SeTRTETe i FANT) # fopw it sifteTa € bt T TR I

THET g3 AT ST | 2
(A)  wrfReft (B) 3TcThial
(C) Tt (D) wdg
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26. Which mythical underground river is considered to have joined Ganga and
Yamuna at Triveni Sangam of Prayagraj (formerly Prayag of Allahabad) ?

(A) Bhagirathi (B) Alakananda
(C) Saraswati (D) Satadru

27. FERIie @@ ReF &FE6 vFFe @i =T ?

(A) SHE7Y (B) 7% ofifeiel
(C) w1 (D) oM

27. forca StaERre @I FIC Tl 2 2
(A) BIETE e (B) Wtxd B
(C) wlFdlw (D) @I

27. TERI Se@! e ST G ST 2
(A) feeaf wmsf (B) @
(C) 8% (FW) (D) T

27. Tr=faiRaa o @ fops ohie & AraT SITaT & 2
A) il wdl (B) gadar
(C) S (D) G

27. Which of the following is measured in Carats ?
(A) Steel rod (B) Milk fat
(C) Saffron D) Gold

28. TYFT (I AR SREN e fSfe I JfAdipe Sag Fuiar g

o ?
(A) TR =ie (B) wifFe=e
(C) feeree D) foer sz =1
28. GRIA (fossil) 7 fSfe 0 fIKITe GRTTR 2f\o2PT (@ SR *141 731 3 ?
(A) SRR (Palaeontology) (B) &99¢ (Archaeology)
(C) 9% (Geology) D) ?ﬁ"iﬁm (Geomorphology)
28. STl T WA ggHaT aHE faf SRS s« s fawme dea ¢ 2
(A)  UAtIT=TCAS S EEIEICINE
(C) Sfiarerstt (D) STHRHIATSH
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28. 3T I i H ITET SAATLH] o TR T Y& T STaH o 3hige 8 qafad @ ?

A) e fasm (B) g fors
(C) v ot (D) ¥-3Tpfd fomm
28. Which branch of study deals with the history of life on Earth as based on
fossils ?
(A) Palaeontology (B) Archaeology
(C) Geology (D) Geomorphology

29, IRHNGEAR bivl GRS A (LY 77 T2 91 2 ?

(A)  ECNGR (B) W@@INGH
(C) wBHGR (D) 2GIRGR
29.  IRRNGR BI%l A=A &) (S TZ6 IS = 2
(A) TICNGE (B) JIRRGE
(C) =GR (D) EIRFGH
29, Fd TESSI SEFETN TRYRE! gt ?
A) AR (B) st
(C) Ufeai (D) ®rEgHi
29, TTIHSHIT GETE i AT o 7T fohe Iuehtor < 3T fohan ST & 2
(A) SRR (B) «tnfiex
(C) 3T (D) EEgHi
29. Which instrument is used to measure atmospheric pressure ?
(A) Nanometer (B) Barometer
(C) Altimeter (D) Hydrometer

30. THI-CAI (¥oT™ (B (5o Rps[eTere] SvpTy3 (HEioIe &I i Sigd S A2 AT 2

A) SIvE (B) wEE
(C) &= (D) Aroe=
30. TI-C4 CIAITS SIT! 41 e S &l T 0O & 0 2 (1T 367 2
A) =6 (B) W=
(C) = (D) e
30. W @ ToHTd ST ST Jed SIGIHTET SIE el TR e s fom ?
(A) @I B) &
©) 1 (D) &
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30. @I-Wl WA H, FST Ht ATl EH o ohe He&T A H TolsT id @ ST A o o 83 & ?
A) I3 B) &
© (D) o
30. In a game of Kho Kho, how many members of chasing team enters the field
and sit on their knees ?
(A) Eight (B) Ten
(C) Nine (D) Seven
31. fferRe @Ry SoT L= 7= ?
A o1& (B) «figR 5o
(C) oIz (D) =R AW
31. 90 Srafe MG SRTes 2R =7 ?
A) ey (B) 9T {OS S
(C) eIl = (D) for 4"
31. TERIM ST TRAM FHH SRATN TST ?
(A) Teursh (B) T8 T T
(C) I uRhy (D)
31. Frferad i & F T 1 e P T 2 2
INIREEIEI (B) U HiT 1T T
(©) fimi gin (D) Tgan
31. Which of the following is not native to India ?
(A) Chimpanzee (B) One Horned Rhino
(C) Pygmy Hog (D) Leopard
32. WPIE @R SERIA SR I I5F (FIw ?
A) T (B) bor=
(©) wizs (D) for
32. SRS G SRS GSR /1R ?
A T (B) <0
(C) = (D) =
32. WRAM BTEUN SHIS AT ?
(A) <ECR (B) @9 (Banyan tree)
(C) wIRg (D) m
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32. STITUeRTRER TR T WA 1 TP 981 HH &1 8 ?

(A) <EER (B) =TE
(C) diu (D) m

32. Which is officially the National tree of India ?
(A) Deodar (B) Banyan
(C) Peepal (D) Neem

33. ‘S (ollel @RIGF S Gl NG 6

A) = (B) TFH(S I
(C) IW G (D) <A il
33. Syplaifer sigl @EIfISE (Agnes Gonxha Bejaxhui) (@ Gef2RTSICI Sl T
Q) TREE (B) Sl 97
(C) =M= Gl (D) FPoIF fcafirel
33. TG Sesi WY T STeTe] 311 ST fofersmy ?
A) froes (B)  3re-fd T
(C) Wrer & (D) for&er Fsifean
33. TS T & THH i1 SRS i 3T TAh N 9 H ST <141 & -
(A) HrrEa (B) 3uld U
(C) e (D) foree fetfean
33. Agnes Gonxha Bejaxhui has been more popularly known as
(A) Miraben (B) Arundhati Roy
(C) Mother Teresa (D) Sister Nivedita

34. I S_P FhEE G AT SR Ffe ?

A) w@gfE Gl (B) TR TE

(C) «ERIb SN2BZ (D) & GG
34. T (BT &) PO SR FATRCE ?

(A) WGRE TR (B) I KA

(C) <IPRIG WiZThIE (D) &« @G
34. | AUTH UG HIgd (Codes) @ fegw=ism 44 ?

(A)  SSTHA Shepfer (B) dg3Tat O

(C) 3TTesE JTETEH (D) s
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34. AU & foru wig o1 Sifashr foped fomam 2

(A) SSTHA Shepfer (B) dg3Tet O
(C) 3Teae ST (D) H T
34. Who invented the codes for Telegraph ?
(A) Benjamin Franklin (B) Samuel Morse
(C) Albert Einstein (D) John Baird

35. SN 2™ 7[0S TF (NEFA) 7GR Siree wiifee] | NEFA 3 71051 =02 :

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
35. SRFAIIDE &TCAR [0 AN NEFA 1 5j¢f 5l 1 2

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
35. AT &V Yevra! fHfs=™ NEFA 5 o119 stifrs 1 ?

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
35. NEFA 190l 9 911 8 — &1 foh S0t Je@ ol Tgel STHT ST o7 ?

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
35. What is the full form of NEFA — as Arunachal Pradesh was known earlier ?

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency

36. AT (FCHI SO YS: (SIS /1T 1 2% 2

(A) @ (B) =AM

(©) TR (D) TR
36. G (I TR &IT©2 (RIS THIsa el 23 ?

(A) ARE (B) &I

(C) ot (D) =i
36. TR o HHE BRERG! hLeA13TTe Hiferl ?

(&) gareft B) I™

(C) dime (D) wired
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36. TfcTiad o ¥ s 91 IER T F9 § ohict H TR 1T & ?
A) feareht (B) 3w
(C) it (D) «irEe!
36. Which of the following festival is mainly celebrated in Kerala ?
(A) Diwali (B) Onam
(C) Pongal (D) Lohri
37. G Sl (I QRIS 2 P Sife fafee ?
(&) e ol (B) = ST
(C) Fmie oaiR (D) fRi I
37. T DeO6E G alief 2ie 7 bRt Sifom afRier ?
(A) T BRI (B) o= M|
(C) fapser comii2 (D) foperet piget
37. 9 WEYASTE JfeH THIST MET SrEfi e ?
A) frea =g (B)  fre wwifin
(C) forem == (D) fore e
37. ford fthen ® qow wem oftrest e w1 gr feg T8 off 7
Q) T =T (B) firer shefic
(C) o ==rg (D) oo et
37. The male lead role in which movie was played by Zubeen Garg ?
(A) Mission China (B) Mission Kashmir
(C) Mission Chennai (D) Mission Kabul
38. ey (oE fFoivde (i e ?
(A)  SI9.G. (B) .34, AT
(C) .G, T[Re D) =R.GF. 7fgs
38. ‘Malgudi Days’ &= & fercafe ?
(A) TGP, T (B) .94, TRl
(C) H.GF. TR D) W7.CP. A
38. ATEl e forsmeat AR ferm 2
(A) 3R, TTEIH (B) . 3TR. TR
(C) 3., T (D) 3AR.%. ufsd
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38. UGSl S5 <hl TaAT fohur i oft 2
(A) ARk, ALHI (B) .3AR. TEUH
(C) 3., TH (D) 3AR.%. ufed
38. Who wrote the book ‘Malgudi Days’ ?
(A) R.K. Laxman (B) K.R. Narayanan
(C) R.K. Narayan (D) R.K. Pandit
39. (FIT®:
(A) SBArHES ETeE e (B) <fq7fE 7ot ARCIPeI
(C) B A2 @RI @1 [BEFT (D) A2 IR
39. G2
(A) RPArFEF @TeE 97 (Interstellar laser weapons)
(B) t® 8 w@dlq (Night vision binoculors)
(C) SIS BTl AW =% W T4 (Crawling land mine detectors)
(D) TRUREE SFRE (Unmanned ariel vehicles)
39. I 3 IE™
(A) ITNEAR A9R 99 (B)  HHTTE T gl
(C) TS UT S HTSH SEin (D) AHRE TG SR TS
39. gAE:
(A) T Aol ERAIN (B) e foom gue
(C) Tergedt ol wida feeaex (D) uHd Ifed gaTs ared
39. Drones are
(A) Interstellar laser weapons (B) Night vision binoculors
(C) Crawling land mine detectors (D) Unmanned ariel vehicles
40. e SIferp A (RARIH! oI C4E{la e 2
(A)  foeTiGD Bisal (B) JIFT W
©) ToRgAT (D) fag a1
40. T SHRSTR W@ & LHIE ERNS ?
(&) foemRiG T (B) IS TR
(©) EgErl D) fagga
40, TrEFY TS R ETE T e oA 2
(A) fireardas ammm (B) N3 T
(C) g (D) fry =
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40. Tr=fRad 4= 4 9, T peata Raaret i o1 ?
(A) fireade g (B) *FH T
(C) e (D) g s
40. In the following list, who was a football player ?
(A) Gilbertson Sangma (B) Carfew Roy
(C) Tayebunnesa (D) Mithu Baruah
41. TTRfEIS @R IreHa SN SPTE SR TS 3 727 2
(A) IS (B) fofew
(C) TrEEN (D) “If*o
41. T TS (@ie Arenit SR 0 SR SHAmIg w17 2
INBRIRIGHN (B) Bl
(C) Ree=N (D) ~RoaE
41, TIERM S TSNS STETHS FHT TAARTRT 2
(A) ATTeIvE (B) fafera
(C) ™ (D) TS ST
41. fmafafed o @ =9 o1 T 3780 & Ty HT a1en & g ?
(A) ATl (B) Taferm
(C) fosii (D) ufgem sre
41. Which of the following states does not share border with Assam ?
(A) Nagaland (B) Sikkim
(C) Mizoram (D) West Bengal
42. 2022 TR SR VTS SRS @ @119 7 @few ?
A) @& (B) <l
(C) SO D) w@eiR
42. SRR 2022 0 SPIH Gl T (SeTl 2R ?
A) @& (B) <l
(C) ORErE D) @R
42, SHAR! 2022 3@ TEAH g6 A g S 2
(A) St (B) e
(C) dHAR (D) &g
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42. SEa 2022 T 3EH 1 I 91 TSt s=m=m =1y o1 2

(A) STl (B) s
(C) dqHAR (D) ®TE

42. Which district of Assam was created in January 2022 ?
(A) Bajali (B) Baksa
(C) Tamulpur (D) Hojai

43. 2021-22 G PN ICH6 (I wifiet Biafee 2

(A) TS e =iy (B) Ier®! (85!
(C) orger 3l D) IS ol
43. 2021-22 I S SPTICHR ATHE (B SEI SR ?
INIRETCAE L) (B) &S (85
(C) =g 3l D) I o1
43. 2021-22 U IO THMEH FTeie@! GR TARIGHH ?2
(A) fem= fog ot (B) 315 R
(C) FHgA= (D) T+t
43. 37EM T fREd 2021-22 1 wie U9 R ?
(A) feua fave smt (B)  3TSidT 43T
(C) FHgAs (D) T U
43. Who presented the Budget for 2021-22 in Assam ?
(A) Himanta Biswa Sarma (B) Ajanta Neag
(C) Atul Bora (D) Ranoj Pegu

44. RS @4 9l F=e@T 7 oS e ?

A) F=R (B) IReIME
(C) W (D) Ferm

44. T g ARSI 0K (S Ihe@ TR Wi SIS ?
(A) S=PT (B) JebifE
(©) e (D) et

44. TR o CHET LAGYX ST Tiell T3 ¢ 2
(A) TAmE (B) gefafe
(C) feat (D) el
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44. Trafafaa & @ w0 o 7 s 76 & gfaofi ae w a2 2

(A) = (B) geAfad
(C) fem (D) TTHel
44. Which of the following river is on the south bank of River Brahmaputra ?
(A) Manas (B) Subansiri
(C) Dikhow (D) Ranganadi
45. RIS 29 feoTe (FFG! (2= WHRF <[ SeAme (m ?
(A) TR eetriaT (B) TG (<MIaT
(C) BIME (AN (D) @B eI
45. T0H SeaRerE T3 IS &bl Serme (5w ?
(A) O i (B) h19IC ehgaisiz
(C) Jeizsie iR (D) @A CEEaTe
45, TR 6 Y 3T TSHRA 719 g™ g ?
A) fom wigma (B) Fuefie Hirafer
(C) ST HigHTer (D) TETER HrgrETer
45. fr=ferfaa § @ & o 98 qUH 3cTE 3HE 7 2
Q) femars feped (B) qweiie fers
() e et (D) TETE e
45. Which one amongst the following is the oldest production unit ?
(A) Digboi Refinery (B) Numaligarh Refinery
(C) Bongaigaon Refinery (D) Guwahati Refinery

46. TS Ty2q fooT® SCEE (UNESCO) FiFe afiezy (g @FR! ?

(A) et a1 @ (B) WAETHH
(C) I aFE (D) SR IR Sy
46. T StaRer® W @b UNESCO 3 @fsz[ia) e 2
(A) ST Al At (B) WIETHO
(C) P s (D) P AR Ty
46. TEREM F931 UNESCO 1 Bt 37 AHerms gty 2
(A) et T g (B) gererpst
(C) hMRET AT (D) THE 3RATR 53 g
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46. T=fciad ® 9 I Teh Iien! foad Ta 8 ?
(A) Tt = g (B) greishfa
(C) e Hiet (D) WG TER 3TH
46. Which amongst the following is a UNESCO Heritage site ?
(A) Majuli River Island (B) Sualkuchi
(C) Kamakhya Temple (D) Manas National Park
47. JIfEe! B St s @i e = v 2
(A) TG B) I iR
(C) it (D) Reite
47. e @ oo Fifeane! 1B S = Feafe 2
(A) TG B) I iR
(C) =its (D) wReis
47. HIoRET gRY3R uTeha §et Rreett 1 femmamra fa 2
(A)  TATETE (B) il ATA
(C) —Ta (D) ufeme
47. HSRT U 3T f=fcRad # 9 fora et w1 78 gar g 2
(A) TATETE (B) el ATTAIS
(C) ta (D) AR
47. Kaziranga National Park does not touch which of the following districts ?
(A) Golaghat (B) Karbi Anglong
(C) Nagaon (D) Morigaon
48. PRATRE FRRGIS! MCTRT T ISR BiviRS (@i o1 e FTIferge sRigs 2
(A) Rpep Aol (B) =478 LI
(C) SIS AT (D) AN T
48. PRATIIER FRGIO! MR 7 AR Bivifikice i Twiferzs 2
A) e epm el B) =S AT
(C) =& (D) AN *RFATR
48. ToreEmr 1wty g feegatt e amie s @t Mot § 2
(A)  Tersuy e T (B) Teie3 YTl
(C) 3 R (D) sfimd Teica
48. TR % 9 fe@iE o SO =md § foheent fasm we 8 2
(A) forsuy srarre T (B) T3 THIHT
(C) 3FH IR (D) sfimd Rt ea
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48. Whose resting place is at Saraguri Chapori at Dikhowmukh, near Sibsagar ?
(A) Bishnu Prasad Rabha (B) Swargadeo Sukapha
(C) Ajan Pir (D) Srimanta Sankardev
49. S e GFRRCS! @I 2o Il ?
A) GF AT (B) @< GRRYT
(C) &= =M (D) & e
49. T3 RIS BFaF &if\oD] FMRET ?
A) SFAEF (B) % (o6l =
(C) BF M (D) @F IS
49. YN TegRIE! TR TREEHAT 94 ?
(&) T (B) % o STETGY
(©) T3 (D) 7% IH
49. Torga gt T g i T i ot ?
(&) T (B) T FETGL
(©) T3 (D) 7% 31k
49. Who established the Gurudwara at Dhubri ?
(A) Guru Nanak (B) Guru Tegh Bahadur
(C) Guru Angad (D) Guru Arjan
50. SPINRI @RTHR® STSTR 1 2% SRR SSCTal (i SNifee ?
D) wiRwms A (B) ZolwblS
(C) Sa! AFCP (D) Rmire
50. SPTNRI DRIHCaR &AW el (b foeer ?
Q) WRTE AT (B) TSIwbE
(C) oS! AU (D) fwiane
50. TR FrayA fifafe et wagh 1 gan a2
(A) 33 Bfeh (B) T 3TW13
(C) =i Bilesh (D) forean =
50. 3rEfi fihen o vgeht Afgen ST s off ?
(A) 333 B (B) 31 TSIl
(C) 3rai gfe (D) frenTa
50. Who was the first female actress of Assamese Cinema ?
(A) Aidew Handique (B) Ebha Ashaw
(C) Abanti Handique (D) Vidya Rao
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51. AT GI@ A 22 Q, A2F BI GG 7@ | W2ICe B 7 719l (202 P I GRS &1 P
G 74 (22 R | R A& Q I TS (@ 470 77IFS ?
(A) ™I (B)
€) “@ (D) frg

51. Q= A 93 GIFIQ @M, @ B €3 4F1@ 7@ | B @3 &l 291 P @7 =711, IF GFI@ 9@ R |
R eI Q 97 0% 75 ?
(A) *®F (B) ==t
©€) “« (D) fret

51. Q3 AW am@ & fommme s Ses@ B 1 a@er fharsen | B T fafa 3 P e
STerE e’ fharer R | wiek R &1 Q S drviegl e ?
A) fogma (B) fo
(C) foraren (D) e

51. Q, A <l 3heild! 584 8, ST B o1 Sshailal sicT @ | B sl Uedt P <hi 51 8, fSidept upam se1 2
R IR, Q 1T M@ ?
(A) "¢ (B) == (37het)
(C) sa (D) fomn

51. Q is the only sister of A, who 1s the only son of B. B’s wife is the daughter of
P, who has only one son R. How is R related to Q ?
(A) Father-in-law (B) Uncle
(C) Son (D) Father

52. TISENIA # A 5! WIS AR AESFET [l 7-7 FTS AT &AM GIIFET A 12-99

TS W0 | M (SSTENF RIS A1 e el I, (S8 S i ST [l 22-5F
E[TS A | MBS JOTS e o1 71 S0z ?

(A) 19 (B) 31
(C) 33 (D) 34
SPACE FOR ROUGH WORK
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52.

52.

52.

52.

A @M [ At I @TF 7 OF B IR 299 THEAMF (T 12 F B
TR | AW S SR 2 s I ©E@ Al I 0 TF 22 ©F = =T | Afore
I Fo& (R0 IR ?

(A 19 (B) 31

(C) 33 (D) 34

BT BRI A GRS, S 311 M 7 o 31e e/ AR Ifeq 341 3ATTeT-hr
12 1 31ma ga | i s8R Tt grat Sremremisa, S o1 smitae 22 ¥ e
UTEAT | & TN Y BEAHTHR € ?

@) 19 B) 31

(C) 33 (D) 34

TSh! 6l Teh Ui |, #1919 W Hraqd 3T Y <& W 129 T W 2 | Ffe 3 A9 WH
9 T 96t od 2, a1 21 918 & 224 T W 3 AMd @ | ufed o fohee eigsh & 2

@) 19 B) 31

(C) 33 (D) 34

In a row of boys, Srinath is 7th from left and Prabin is 12th from right. If they

interchange their positions, Srinath becomes 22nd from the left. How many
boys are there in the row ?

(A 19 (B) 31
(C) 33 D) 34
53. AW 72 96=6927,58 87=7885%,TS(BT9 86="2
(A) 7689 (B) 8976
(C) 6897 (D) 6978
53. AW 72  96=6927,58 87=7885OET79 86="7?
(A) 7689 (B) 8976
(C) 6897 (D) 6978
53. @72 96=6927,58 87=7885 A= T9 86=7
(A) 7689 (B) 8976
(C) 6897 (D) 6978
SPACE FOR ROUGH WORK
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53. AMC72 96=6927,58 87 =7885AM79 86="7
(A) 7689 (B) 8976
(C) 6897 D) 6978
53. If 72 96 =6927, 58 87 ="7885,then79 86=7
(A) 17689 (B) 8976
(C) 6897 (D) 6978
54, WM @ QN 4 @ KA, = @[T &F X @ 29 2 ISR, (o0
18+ 12 x4 — 5 I+ (R :
(A 25 (B) 35
(C) 40 (D) 33
54. M <+ WE T R, + T KA 2, ~ T @I =W GR % A Sl 27 O
18+12x4—5 G2 :
(A 25 (B) 35
(C) 40 (D) 33
54. Sfg ‘< 3T RIS, “+ 3 THETR, ‘= AT FHAEE TR % AT TR BRA
18 +12 x4 — 5 famr#r ?
(A 25 (B) 35
(C) 40 (D) 33
54. i ‘w1 FAd 7 TR, + 1 37 g1, = H 37 MO IR X w1 A 9WT B, @l
18+12x4—5HIAAE
(A 25 (B) 35
(C) 40 (D) 33
54. If ‘+’ means ‘addition’, ‘+’ means ‘subtraction’, ‘" means ‘multiplication’ and
‘x’ means ‘division’, then the value of 18 + 12 x 4 — 5 1is
(A 25 (B) 35
(C) 40 (D) 33
SPACE FOR ROUGH WORK
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55. 17,11, 19, 31, , 67 TR & ZIq AT 2

(A) 43 (B) 47
(C) 51 (D) 45
55. R Serifee My eer: 7, 11,19,31, 67
(A) 43 (B) 47
(C) 51 (D) 45
55. 7,11,19,31, 67 %I 3@ MHHEM fegaft oM 1R |
(A) 43 (B) 47
(C) 51 (D) 45
55. SIHE 7, 11, 19, 31, , 67 Hwd Ug 8
(A) 43 (B) 47
(C) 51 (D) 45
55. The missing term in the sequence 7, 11, 19,31, , 671s
(A) 43 (B) 47
(C) 51 (D) 45

56. (@ICT €F AFFIIIT 826K A GARCE TR 12:30 IS 10 WG Sow@ e wiazs
2 | IR SR @75 20 WG SNa termiozs e Fifee | «v.f3.
SR PRI IS Trets 30 ffelb “1e1<is =nifafee | Arwiesa Frafs !
wIfee
(A) 12:50 ST (B) 12:40 I
(C) 12:00 3 (D) 12:10 I

56. THAREGI AFFITR WA & I 96 12:30 96PR 10 WG #d 2t e |
IR 99.58. 7 @ 20 MG =I1wsl CMtetzs | .18, ARFIFR @eqF e 1 TR
CITF 30 W (FAITS CTitatas | AFFERPIF (TSI 5T e

(A)  12:50 9! (B) 12:40 96t
(C) 12:00 9! (D) 12:10 9HH
SPACE FOR ROUGH WORK
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56. ST GHI AN 37 THIF g1 3719 12:30 ST 10 fire & gman. waLfe. 1w 20 fime
Tomr wifgfiri o gen | waLfe. o1 sy T am@En 1 @ wmiwe 30 fiMe e
WIAHEH | $etg 1 omam forarerme=m s 71 74 2
(A) 12:50 et (B) 12:40 Tt
(C) 12:00 ftet D) 12:10 Tzt

56. 31e981, IR i o fIT 12:30 s H 10 e gt gt ¥ Jow1 a1 8 | 9581 M.D. 9
20 i TeT 37T 3T o7 | ISR o 7 o AR M.D. 30 e ¢l @ 15 | a1eTehi
o1 et aw o
(A) 12:50 & (B) 12:40 51
(C) 12:00 st D) 12:10 s

56. The Chairman enters the Assembly Hall 10 min before 12:30 hours to
conduct the interview. The Chairman was 20 min earlier than the MD. The
MD was 30 min late as per time fixed for the interview. The time fixed for the
Interview was :

(A) 12:50 hours (B) 12:40 hours
(C) 12:00 hours (D) 12:10 hours

57. 2,6,18,54, ...... GG BN MR (Rl
(A) 4370 (B) 4374
(C) 7443 (D) 7434

57. 2,6, 18,54, ...... FbCe wBy A
(A) 4370 (B) 4374
(C) 7443 (D) 7434

57. 2,6,18,54, ...... FIf3TE 9 8 1 feeres S
(A) 4370 (B) 4374
(C) 7443 (D) 7434

SPACE FOR ROUGH WORK
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57. TR 2, 6,18, 54, ...... HIBAICE

(A) 4370 (B) 4374
(C) 7443 (D) 7434
57. The 8th term of the sequence 2, 6, 18, 54, ...... 1S
(A) 4370 (B) 4374
(C) 7443 (D) 7434

58. TIHIC 5! MR, @I TOIT MATSF T 20% WF 50% THEF | TR oA SATS

[y
A) 2:5 B) 3:5
C) 4:5 D) 7:5
58. (PICI 72D AT SO AT (AT AP 20% 93 50% R | F1 G20H SIS -
A) 2:5 B) 3:5
C) 4:5 D) 7:5

58. T T AT BN AW IFRHTBR 20% R 50% SR | o SANET A TJ&T8 31
9 7

A) 2:5 B) 3:5
(C) 4:5 D) 7:5
58. < GEATE Ueh o) T B SHAN: 20% 3R 50% 37Tk 7, gl G&at 1 31quTd 8 -
(A) 2:5 B) 3:5
C) 4:5 D) 7:5

58. Two numbers are respectively 20% and 50% more than a third number. The
ratio of the two numbers is

A) 2:5 B) 3:5
C©) 4:5 D) 7:5
SPACE FOR ROUGH WORK
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59. T 4,000 TET *SH! I 12% I [o© 18 T2F S (2T :
(A) T216 (B) %1720
(C) %360 (D) %960
59. T 4,000 BIFE ToR 12% IR 2T 18 HPT S61 FeT 77
(A) %216 (B) %720
(C) 360 (D) %960
59. @Il SN 12 T &R T 4,000.00 7 g 18 3776 TR He 98 ST 7
(A) T216 (B) %1720
(C) %360 (D) %960
59. % 4,000 W 18 HEN T 12% Wfd o <hY o1 & 31idId TTHRUT AT 2
(A) %216 (B) %720
(C) 360 (D) %960
59. The simple interest earned by ¥ 4,000 in 18 months at 12% per annum is
(A) T216 (B) %720
(C) %360 (D) %960
60. I @F AT 893 (F T3¢ FIACE ST 193 (AT I | 6! RAF 47 @ 276

60.

60.

FEC T SN (2= :

@ 3 (B) 25

(C) 5 (D) 33

I G TRANE 893 7! Sl FICE SAKE 193 AE | G738 RAHE 47 71 il
T SRAE AP -

(A 3 (B) 25

C) 5 (D) 33

g FAREE 893 S THsAT Mg ATATS! 193 | o T IFSHE 47 S THTseT 3TgT
ATATTET S8 ST 2

A 3 (B) 25
©) 5 (D) 33
SPACE FOR ROUGH WORK
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60.

60.

9 U TEAT I 893 § fawifra feram Sar & 1 99 193 e giem 8 | I TEA1 Bl 47 F
forfora s w3 g

A 3 (B) 25

) 5 (D) 33

When a number is divided by 893 the remainder is 193. If the same number
1s divided by 47, the remainder will be :

A 3 B) 25

C) 5 (D) 33

61.

61.

61.

61.

61.

120 &9 2@q 451 RGRPTS 45 a9 4y T itz | I RIGRPTS T 30 & 2dg
ST S, (S0 TGS UM RIQRPICH! A1 el Bfeta “11f 2

(A) 40 (B) 38fm™

(C) 36 (D) 32f™

@GP FGRICT 120 T Bq ST G3R 45 el @3 URIF T7A12 391 2R | I A8 30 &
2/q RERICT @191 0 R ZIEGIET TGS A LRI T Heid ?

(A) 40 7 (B) 38 W=

(C) 36 (D) 32f™

TH g 3E |1 120 HUFET € 7RI STER 3 94 45 7 9@ g | Jfe o gaE AeE
T 30 BUIHTHT ATHAT, 36T AT RS o BEIST T8 Fifer ! g 2

(A) @ 40 (B) @M 38

(C) @M 36 (D) & 32

T BETEE § 120 BT & 3R 9IS 6l 3Yfd 45 fei & fotw 2 | 371 30 3R & gHEmEw §
I 21 T, Y HiSfeT WIS & SrEmEmE fehad fom s 2

(A) 40T (B) 38f&=

(C) 36f= (D) 32fe

A hostel has 120 students and food supplies are for 45 days. If 30 more

students joined the hostel, then how many days the hostel will run with the
existing food ?

(A) 40 days (B) 38 days
(C) 36 days (D) 32 days
SPACE FOR ROUGH WORK
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62. 20 fi. T¥eT GO Geel G2 S (MRRTS ST (A SR | S¥EeicE Tba s 30°
Tl B SR, | LTI RIS i 1 KBTSl 2z :
(A) 10w (B) 17.32fw.
(C) 8.16 1. D) 13f.
62. 20 5™ T @b 12 (ladder) T (vertical) SER AF G5 (RS JTF S |
T=2foq Sfiw o1 a1 (I o1 30° | 7267 (reAEIE i a1 o Tovo -
(A) 10 g (B) 17.32 s
(C) 8.16 13 D) 13T
62. TE MU TR 3@ 20 . FRUEH Je=n FHEH § | = g 300 @ @ |
HAEATIT A 3T BN formgrta Siamssn o ?
A) 10 (B) 17.32 .
(C) 8.16fm. (D) 13
62. TH 20 Hict el H T HeATeR IR WPl 55 & | T ST o 1 30° T HIVT S 7 |
HiEt o G 1 g 9Tt foig 1 s B
A) 10, (B) 17.32 4.
(C) 8.16H. (D) 13 4.
62. A 20 m long ladder is leaning on a vertical wall. It makes an angle of 30°
with the ground. The height of the point the ladder touches wall is
(A) 10m (B) 17.32m
(C) 8.16m D) 13m
63. 95151 1000 “A1 LTS SO a1 779 (20= 22 6.1, | 5l T 2
(A) 4.5 B) 2.1f.
(C) 2.8W. D) 3.5 M.
63. I BIFI 1000 SRS 22 fRefire e Sfoa G | HRAfGA T
(A) 4.5 B) 2.1
(C) 2.8 (D) 3.5
SPACE FOR ROUGH WORK
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63. HE @™ @ 1000 Fifeaa sma 22 6. fr. Smems geem | 9 g w'EE g a1
NISIE
(A) 4.5 (B) 2.1
(C) 2.8 D) 3.5

63. T UfedT 1000 TR H 22 Toh. 1. 1 gt T L #ehar 2 | Il 1 B (Radius) @
(A) 4.5 (B) 2.11.
(C) 2.8 (D) 3.5

63. A wheel can cover a distance of 22 km in 1000 rounds. The radius of the
wheel 1s
(A) 4.5m B) 21m
(C) 2.8m D) 3.5m

64. 10 o FrFs 4l Qe MRS Qo *AFE ST &2 0 S 101 0l 25 2]
RO [ G FHE R QoW 0T | FerFace] Hs 756 97% 17 3 7P 217 |
TP 212 91 R Srerd T (AR
(A) 553=F (B) 65 3%d
(C) 5839=9 (D) 60 =

64. G0 FE 10 & RS ITRA | GFE SROT &12¢ FCACRA G SRBIE 25 I R
GG e RS M FCACRA | Forane] REFR 91T RT3 I 2T AR | ST
el MrFEa T 29
(A) 553 (B) 653ICH
(C) 583ITH (D) 603

64. 1 S BRI M7 T8 BURETer 37, T8 SR AR 3T @ @l 25 SER SEi TeH

SR Rresmn | fheme srEfed, BRIt e R S8 Tedqm 31 3 S @HEerE | AT
AT BRI SEIST s ?

(A) 55@MER (B) 65 SR
(C) 58aMER (D) 60 FER
SPACE FOR ROUGH WORK
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64.

64.

10 f1e7eh aTct SRt H, Teh T1eteh <Al SaT-a i T qid 25 a9 <hi 31y 1 Th =31 ek e
B RN | aRTTTeEEd, et 1 e 31 3 81 TS | HaTga et il A R

(A) 5599 (B) 6599

(C) 587 (D) 60 @

In a school with 10 teachers, one retires and immediately a new teacher of
age 25 years joins. As a result, the average age of the teacher reduces by 3.
The age of the retired teacher is

(A) 55 years (B) 65 years

(C) 58 years (D) 60 years

65.

65.

65.

720 RIS il 260 @3 Reglersrs =13 S @RI FRAT S 7 : 5 | SArSCh!
1: 12903 Sfofqe B i1 e Aefs 27« ?

(A) 60 (B) 120

(C) 180 (D) 240

720 & [yl 1T G B R0 (=201 9. TR Sire 891 7 : 5 | (RS (IEE Sl 1
1 20O 201 SRS o6 (0 S 300 23 ?

(A) 60 (B) 120

(C) 180 (D) 240

|1 720 HUFHFIHT TH FREENTASE gaE TRl femeart A s o e
7:5 | SIAIAT 1 : 1 THIecT, e Tetredman § fReas mm= ?

(A) 60 (B) 120
(C) 180 (D) 240
65. 720 BTAT % Teh Thel § TIeh] I TASIhAT h TEAT T I 7 : 58 | I 1 : 1 M &
foru 3tk fepat Treferat st st feam s e 2
(A) 60 (B) 120
(C) 180 (D) 240
65. The ratio of the number of boys and girls in a school of 720 students is 7 : 5.
How many more girls should be admitted to make the ratio1:1 ?
(A) 60 (B) 120
(C) 180 (D) 240
SPACE FOR ROUGH WORK
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66.

66.

66.

66.

66.

T 1 56l ST1<F 50 #1351 PRI 3@l 2 : 3 Weyeires 15 % 35 b (feet | 377 50 #1259
@I AL (R0 :

A) 20 (B) 25
(C) 30 D) 35
I 1 BRAT G<R 50 “RPI Y@l 2 : 3 SRHICS 35 BIpl &1 SRACR | 50 RPIR I 1241 28
A) 20 (B) 25
(C) 30 D) 35
AT TR 50 HETYET 2 : 3 T ATSS TAM 371 T 35 T YA | 50 BTG ST 94 2
A) 20 (B) 25
(C) 30 D) 35

YA A 1 T o fehi 3R 50 T8 < faehi o 2 : 3 % 37dTd § 3 35 ufed fopam | 50 99
i Hrae e

(A) 20 B) 25

(€ 30 D) 35

Shyam stored ¥ 35 in the form of 1 rupee coin and 50 paise coins in the ratio
2 : 3. The number of 50 paise coins are :

(A) 20 B) 25

(©) 30 (D) 35

67.

ema “Af3fbas Bl @I @I @ 369 RF A [eifers Fiore wfizez | Tawrs
Tax X3 73 B (o T :

Fig. : Expenditure (in Lakhs)

A) 90° (B) 45°
(C) 72° (D) 81°
SPACE FOR ROUGH WORK
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67. 0 Sare 3¢ fbaft (b afepitr AR TR ©2 e e FE | FER Jel¥ i
S[TEL P! (PIC I

o 31 ol
o : 430 (37%)
(A) 90° (B) 45°
(C) 72° (D) 81°

67. TS AN S A8 HATH SR GERE! fefRMAm Se | @ T (Tax) Tl I3
I @A A3 Y 7

HE : T (AT 379)

(A) 90° (B) 45°
C) 720 (D) 81°
SPACE FOR ROUGH WORK
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67. s =md ferelt feu u o & foru fomeht st & = o1 foreor fe@man 8 | ¢ (Tax) @S g
AN BT R

Fig. : =99 (V@ H)
A) 90° (B) 45°
(€ T72° (D) 81°

67. The pie chart shows the expenditure breakup of a company for a given year.
The angle subtended by the Tax segment is

Fig. : Expenditure (in Lakhs)

A 90° (B) 45°
(C) 72° (D) 81°
SPACE FOR ROUGH WORK
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68. To@a %24 S9IGIB 771 IR ToRe foaeh! fofoa <54 -

A) (B)

©) D)

68. TG b fooa FCa og Tl =f Tl -

A) (B)

©) (D)

68. HETR HIFE A0 erera & grermit @t are’ ?

(A) (B)

(©) (D)

SPACE FOR ROUGH WORK
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68. 3TTRId @1 ST T o ToTU IR STTR{T 1 = e :

(A) (B)

©) D)

68. Select the appropriate figure to continue the figure series.

A) (B)

©) D)

69. 2MEIYS BT (?) Bre 53132y 3z wfam 2

14
22
34
41
53 ?
A) 14 B) 55
© 15 D) 45
SPACE FOR ROUGH WORK
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69. XIS B (?) SR G 7B 73 2

14
29
34
41
53 ?
A 14 (B) 55
(€) 15 D) 45
69. Hiq o 519 TS A=A g ?
14
29
34
41
53 ?
A 14 (B) 55
© 15 (D) 45
69. IvIaTES g (?) o T W HIA H HEA A =hRy ?
14
29
34
41
53 ?
(A) 14 (B) 55
(C) 15 (D) 45
SPACE FOR ROUGH WORK
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69. What number should replace the question mark (?) ?

14
22
34
41
53 ?
Q) 14 (B) 55
(C) 15 (D) 45

70. BROTHER, HUSBAND, MEN
92 XA} TR T 554 e ARfboeiE afsfig a1 foan! bre Ft |

A) (B)

©) (D)

70. TG (ST IMGTETR T AP TFHE @i A’ A Siereid afsfirg 3@ ©f
b T :
2, R, T

A) (B)

©) D)

SPACE FOR ROUGH WORK
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70.

70.

70.

TERTE BT ATETGBRI ToRE AT HHGRE 55 %3 e BIHRIT e §1id ?

(A) (B)

(©) (D)

39 3NE ! TgaH w1 few T ot o ofi9 gay 1 ged st afdffrc s 2
WTg, dfd, ey

(A) (B)

©) D)

Identify the diagram that best represents the relationship among the given

classes :

BROTHER, HUSBAND, MEN

(A) (B)
©) D)
SPACE FOR ROUGH WORK
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Q. 71-80 : Read the passage carefully and answer the questions given below :

At last the bomb was made. The site chosen for the test explosion was the
desert region north of Almogordo, two hundred miles from Los Alamos. The
bomb was taken by road and placed on a gaunt tower, one hundred feet high
and weighing thirty-two tons, erected on the top of a hill. The code name for

1t was Zero Hill. Zero hour was 5:30 a.m. on Monday, July 16, 1945.

Oppenheimer himself was at the control centre about nine miles from
Zero Hill. There were a thousand spectators including scientists, government
officials and a strong security force. All not on duty were told to lie down flat,

face and eyes directed towards the ground and with the head away from zero.

At forty-five seconds to zero hour Dr. Joseph L. Mckibban of California
University set in motion a weird master robot which set other robots in
motion. More than five hundred miles of wiring were used to start the bomb.
Electronic impulses were set in motion and relayed messages; electrons
moved into position. Observers stood with coloured film over their eyes and

heads averted.

Overhead two B-29 super fortresses hovered, equipped with recording
instruments to test reactions in the atmosphere. Ten seconds before zero

hour a green flare warned the spectators to keep down. Then came the

blinding flash.

The whole area was suddenly brighter than the brightest day light, and
the bomb was a ball of fire. Even at nine miles, the heat was scorching. Then
came the tremendous roar and the heavy pressure wave, which knocked
down two men outside the control centre. And then came the cloud — the
mushroom cloud, all the colours of the rainbow, ironically beautiful surging
upto over 40,000 feet, over 10,000 feet higher than Everest. The great steel
tower had gone. Lead lined Sherman tanks took scientists towards the huge
sloping crater where it had stood, to see the effects of radiation on the surface

of the earth.
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71.

Zero Hill was located in

(A) Desert region of Almogordo

(B) Desert region of Los Alamos

(C) Desert region north of Almogordo

(D) Desert region south of Almogordo

72.

Hover means
(A) To remain in the air at one place (B) To move to and fro

(C) To circle around (D) To move up and down

73.

The bomb exploded

(A) emitting heat, sound and heavy pressure wave
(B) emitting cloud and cloudburst

(C) without creating much physical disturbances

(D) creating a lot of physical and mental disturbances

74.

Electronic impulses
(A) were not effective (B) relayed messages

(C) warned the spectators (D) greeted the spectators

75.

The spectators included

(A) scientists, government officials and a strong security force.
(B) scientists, artists and a strong security force.

(C) scientists, a strong security force and footballers.

(D) scientists, technicians and a strong security force.
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76. Who was at the control tower ?
(A) Oppenheimer (B) McKibbon

(C) both Oppenheimer and McKibbon (D) Government officials

77. It is implied in the passage that the spectators were told to
(A) lie down flat, face and eyes directed towards the ground and with the

head away from zero.
(B) cover their eyes with coloured films and keep their head averted.

(C) lie down flat, face and eyes directed towards the ground and with the

head towards zero.

(D) cover their heads with coloured films and eyes closed.

78. B-29 superfortresses and Sherman tanks are used to
(A) check the effect of the bomb on the ground and air respectively.
(B) check effect of radiation on the ground and air respectively.
(C) check effect of radiation in the air and ground respectively.

(D) check the effect of the bomb on the great steel tower.

79. The beauty of the mushroom cloud is ironical because
(A) It knocked down two men outside the control centre.
(B) Of the devastating nature of the bomb.
(C) The bomb destroyed the steel tower.

(D) Clouds are not devastating.

80. A synonym and antonym for the word Scorching would be
(A) Searing, Soothing (B) Searing, Burning
(C) Soothing, Cooling (D) Soothing, Heating
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81. /20 x 45 +4/0.04 ++/0.64 I (22 :
(A) 26 (B) 31
(C) 36 D) 41
81. /20 x 45 +4/0.04 +/0.64 §F T
(A) 26 (B) 31
(C) 36 (D) 41
81. /20 x 45 +/0.04 +~/0.64 3 7 371 &
(A) 26 B) 31
(C) 36 D) 41
81. /20 x 45 +4/0.04 +~/0.64 FTHAFR :
(A) 26 (B) 31
(C) 36 (D) 41
81. The value of\/20 x 45 + \/0.04 + \/0.64 18
(A) 26 (B) 31
(C) 36 D) 41
x 2 3x + 5y 6x+4y
82. zﬂﬁy_S,c—C@\o x5y T 6x_y 1T
1 2
) 3 B 3
1 2
©) —3 D) —3
x 2 3x + 5y 6x+ 4y
82. zrﬁy— 3 T, S g Tt oy SR
1 2
A 3 B 3
1 2
© —3 D) —3
SPACE FOR ROUGH WORK
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_ﬂﬁg_g 3x+5y 6x+4y

82. Ry =g Ay syt ey ¢
1 2
A 3 B 3
1 2
© -3 D) —3
x 2 .3x+5y 6x+4y .
82. y_3’?-ﬁ3x—5y+ 67—y U 2
1 2
A 3 ®B) 3
1 2
© -3 D) —3
x 2 3x+5y 6x+4y .
82. Ify—3, then 3x—5y T 6x_y 1s equal to
1 2
A 3 B) 3
1 2
© -3 D) -3
83. I TR ABH! T ARAFF @lorFet 190 2, (S8 HBIZSF 7 TG 2T -

83.

83.

A) 40 B) 19
(C) 38 (D) 36
v TRIC! #AT6D FfaF SR @IaFeT 190 2, O SInd T Foes 171 = -
A) 40 B) 19
(C) 38 (D) 36

A A (AR AN) SEREIH SEreEa Jfe 190, S8R AeE 935S gaied
FAATHET AT ?

(A) 40 (B) 19
(C) 38 (D) 36
SPACE FOR ROUGH WORK
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83. dfe Ul SHATTA TS &1 AT 190 7, df 370 T a8 BIT T 8
A) 40 B) 19
(C) 38 (D) 36

83. If the sum of five consecutive numbers i1s 190, then the lowest number
amongst them is

A) 40 (B) 19
(C) 38 (D) 36

84. «BI 7f<faaf T #I1=TeT 2450 T {79 I AN 7o FLICBT (2 :

A 2 B) 3
© 4 D) 5
84. TSH IR AR AR 2450 (F @< T 7f<f q0f Tolere 2y AR GAfG =
A 2 B) 3
C€) 4 D) 5
84. T IHNNI 2450 Tl AHSTSIeA! ST 3T S SHHTH ?
A) 2 B) 3
© 4 D) 5
84. U TEH BIE TEAT @ 2450 1 T 0F 71 M o5 Tor 7o fehan ST =nnfed, ag 2 -
A 2 B) 3
© 4 D) 5
84. The least number by which 2450 must be multiplied to make it a perfect
square, 1s
A 2 B) 3
€ 4 D) 5
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85.

85.

85.

85.

85.

AW eI o 20% RN I =, (S (519 M0 =R i IR BT @I (i
W1 P A A 2

@) 182% B) 142%

©) 152% D) 162 %

W D" T 20% I =7 o7 SRS B 5927 7 ToRe TS = TS 490
oSS 2F ?

@) 182% B) 142%

©) 152% D) 162 %

Sfe it s8eT 20% ST SIS TH TG 3T 6 9 @ T ATReH] o SagH- SRt
TG ?

@) 182% B) 142%

©) 152% D) 165%

Ife St 61 Hma F 20% H 3fg B ], T TH gfEm H == F g § fha wfawa H
I R FATTRY AqTih soTe G0 M @ 2

@) 182% B) 142%

©) 152% D) 162 %

If the price of sugar increases by 20%, by what percentage should a
household reduce its consumption of sugar so that the budget remains the

same ?

@) 132% (B) 142%
2 2

(C) 155% (D) 162%

3
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86.

86.

86.

86.

86.

p, q, r GG FST5! TRA ITS p FE q I NG, q, HF qAFr IAAL. r | p, q
I ¢ F .8, (AR :

A g B) r

©) ar D) par

D, q, v 9 Rob MRAI AT p 8 q T AAG. q, 9R q S r ST AAL. v | p, q 81 G
.. 3(F :

A q B) r

© ar (D) par

p, q,raﬂnﬁwm@mﬁmﬁmémpmqﬁg.mm.qu,qaqTErrﬁrg.:ﬂT.m.
@ ¢ | p, g AW r 1 g.3m80. A= AT ?

A q B) r

© ar (D) par

p, q, r < TEITE 36 TR g T p 3N o & oy gameed (LCM) q 8 3R q 91 ¢ &1
AT TG 1 8 | p, q 3TN r 1 ALTH GHIS BT

A q B) r

©) ar (D) par

p, q, r are three numbers such that the LCM of p and q is q and the LCM of
q and r is r. The LCM of p, q and r will be

A g B) r
©) ar (D) par

87.

20 ./ (GTFe AN 9IfotIsrs et 281 100 GR TrEfa @2 @ISt 1 6.5 orfa @ew
e 19 RETS (FE9ICILeTP I [<piel 7 :

(A) 45 (B) 50 5%
(C) 55 (D) 60 BEFS
SPACE FOR ROUGH WORK
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87.

87.

87.

817.

100 B T @fs @@aml &ifs ETrce 20 G wifen sttt 1 [esfits Teafa o1
o 1 | FEANCIOT (T SAods] FACS AT 19T :

(A) 45 TTCPe (B) 50 TS

(C) 55 TIFY (D) 60 PIFS

100 Ti errzemsf~ 18 27 a1 1 fop. T, eeeumsty gramat 20 /A, wewm Mt I | et
TRAT S 3 3T oH TqH AR 2

(A) 459 (B) 50%

(C) 5549 (D) 60%

T 100 Hiet &l 37 20 H./Aehg i THTHH TG | et g3 1 foh. . FETE % I Pl UR
HLA B | I BT IR B o oI 27 g fern men wm=r 2

(A) 45 Tehe (B) 50 Tehs

(C) 55 e (D) 60 Tehe

A 100 metre long train moving in a uniform speed of 20 m/sec crosses a
bridge of length 1 km. The time taken by the train to cross the bridge is

(A) 45 seconds (B) 50 seconds
(C) 55 seconds (D) 60 seconds
88. 0.037 I SN 6! (202 :
37 37
A) 990 (B) 999
37 37
© To0 D) 7000
88. 0.037 & S FABTS T :
37 37
(A) 990 B) 999
37 37
© 150 D) 1000
SPACE FOR ROUGH WORK
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88. 0.037 CICICICIEA RIS INIEIR]
37 37
(A) 990 B) 999
37 37
© 700 D) Too0o
88. Uk = ®I T 0.037 1 TUTAWT &
37 37
A) 990 (B) 999
37 37
© 700 D) 000
88. The conversion of 0.037 in the fractional form is
37 37
A) 990 (B) 999
37 37
© 700 D) T000
89. —76 3 3 TJ 27 IS &I SIS (2R :
A -1 (B) 1
© 2 D) -2
89. —76 (3 3 U QI Ol FACT SN :
A -1 (B) 1
© 2 (D) -2
89. —76 @ 3 I TAIscAl FH TSR SR
A -1 B 1
) 2 D) -2
SPACE FOR ROUGH WORK
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89. —76 I 3 T fawTSI T T I AT 2 :
A -1 B) 1
© 2 D) -2
89. The remainder when —76 is divided by 3, is
@ -1 B) 1
©) 2 (D) -2
90. B DQEET (FIPTHR 1: 3: 4 : 7 SHANSS R | T O Iy (Plor +{1<f 2o -

90.

90.

(A) 120° B) 140°
(©) 144° D) 145°
7% TTETR RITGHFR AT 12 32 4 : 7 | I2GT IR TS (I 7357 A1 -
(A) 120° B) 140°
(©) 144° D) 145°

T TS TATHR T3 ST AE™ 1: 31 4 1 7 | SUEAYIR 3T G3¥E GA1H BRI
ST

(A) 120° (B) 140°
(C) 144° (D) 145°
90. TH TGS b IV T U 1: 3 : 4 : 7 8 | HY &g 3T TH BN 10T o &< T 3T 8
(A) 120° (B) 140°
(C) 144° (D) 145°
90. The angles of a quadrilateral are in the ratio of 1 : 3 : 4 : 7. The difference
between the largest and the smallest angle is
(A) 120° (B) 140°
(C) 144° (D) 145°
SPACE FOR ROUGH WORK
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Q. 91 to Q. 94 : Insert the correct options in the blank spaces :

91. The tenants were asked to throw all recyclable trash into __
(A) the green big plastic bag
(B) the big plastic green bag
(C) the big green plastic bag

(D) the green plastic big bag

92. The process uses an innovative digital technology the products with as

many colours as the image contains.
(A) that imprints it (B) that imprints

(C) that it imprints (D) that imprints on

93. I quoted it from .

(A) Mind (B) Heart
(C) Soul (D) Imagination
94. The company because of the prolonged strikes and lockouts.
(A) went into black (B) went into green
(C) went into yellow (D) went into red

Q. 95 - Q.96 : Choose the correct pair of words which are SYNONYMS of each

other.
95. (A) Regent — Substitute (B) Monotony — Variety
(C) Ancestry — Posterity (D) Precept — Example
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96. (A) Vacillate — Waver (B) Oscillate — Stand

(C) Undulate — Flow (D) Spiral — Drip

97. Choose the correct pair of words which are ANTONYMS of each other.
(A) Lazy — Indolent (B) Glide — Drift

(C) Entire — Total (D) Obligatory — Voluntary

98. Choose the option which will best replace the underlined words in the

sentence to make it correct :

“She done it to quick so it came out looking rough.”

(A) done it too quickly (B) did it too quick

(C) did it too quickly (D) did it to quickly

99. Choose the correct option which best explains the meaning of the idiom

“To give up the ghost”.
(A) To exorcise a ghost (B) To die

(C) To be possessed by the devil (D) To worship the devil

100. The application letter and the resume perform :
(A) the same task (B) two opposite tasks

(C) overlapping tasks (D) two different tasks
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